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  Büring,	
  Binding	
  theory,	
  kap.	
  1	
  

	
  

Vysvětlete	
  interpretaci	
  vět	
  

Honzai	
  by	
  chtěl,	
  aby	
  Karelj	
  zazpíval	
  svouj/*i	
  písničku.	
  

Honzai	
  chce	
  Karlovij	
  zazpívat	
  svou*j/i	
  písničku	
  

Honzai	
  poručilj	
  Karlovi	
  zazpívat	
  svouj/??i	
  písničku.	
  

Honzůvi	
  pesj	
  naštval	
  svého	
  j/*i	
  kamaráda.	
  

Do	
  jeho/*svého	
  domu	
  zatíkalo.	
  

(Každý	
  pes)i	
  má	
  rád	
  *jehoi/svéhoi	
  pána.	
  

Oni	
  má	
  rád	
  Petrai.	
  

Je	
  nutné	
  připravovat	
  se?	
  na	
  každou	
  hodinu.	
  

Uč	
  se?!	
  


